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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1ai 7186 0.9 0.3 1 90.6 99.7
1aii 7149 0.8 0.4 1 76.4 99.2
1aiii 7134 2.3 0.8 3 76.1 99
1aiv 6810 1.4 1 3 47.7 94.5
1av 6580 1.9 1.3 6 31.5 91.3
1bi 7157 0.9 0.3 1 86.3 99.3
1bii 7164 1.8 0.7 3 60.1 99.4
1ci 7171 0.7 0.5 1 65.1 99.5
1cii 7124 1.4 0.8 3 46.2 98.9
1ciii 6593 1.7 1.6 6 29 91.5
2ai 7189 2.6 0.6 3 87.9 99.8
2aii 7113 1.9 1.1 4 47.9 98.7
2bi 7057 0.8 0.4 1 77.4 97.9
2bii 6830 1.4 0.9 2 68.1 94.8
2biii 7110 1.2 1.1 4 30.9 98.7
2ci 6777 0.9 0.7 2 46.5 94
2cii 6713 1.3 1.2 4 33.3 93.2
2ciii 6924 3.4 1.4 8 42.9 96.1

2ciiiAAC 6998 2.4 0.7 3 80.9 97.1
3ai 4962 0.9 0.3 1 92.1 68.9
3aii 4882 1.4 0.7 2 69.3 67.8
3aiii 4987 2.9 1.2 4 72.4 69.2
3aiv 4425 1.6 1.3 4 40 61.4
3bi 4853 1.6 0.8 3 53.4 67.3
3bii 4707 1.2 0.7 2 59.2 65.3
3biii 4684 1.1 0.7 2 53.5 65
3c 4660 2.5 1.2 6 41.5 64.7
4ai 2939 0.9 0.2 1 94.1 40.8
4aii 2836 1.3 0.7 2 67 39.4
4aiii 2918 2.5 1.1 4 63.6 40.5
4aiv 2846 2.2 1.1 4 55.3 39.5
4bi 2701 1.4 1 3 48 37.5
4bii 2744 0.8 0.8 2 42.4 38.1
4biii 2681 1 0.8 2 52.3 37.2
4c 2707 3 1.6 6 49.3 37.6
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Sticky Note

A judgement is made at the start. This is perfectly acceptable as long as it is justified by what follows.



Sticky Note

Some justification is given but there is a lack of evidence provided from the resources to back this statement up.







 



Sticky Note

Use of some evidence from the resources.



Sticky Note

This is probably a valid point but needs to be expanded or provided with some evidence or explanation. However, it is an attempt to provide an alternative viewpoint.



Sticky Note

Overall, this answer has some valid points made on both sides of the argument and a judgement is made but there is a general lack of detail. There is some interpretation of the resources but it too brief and a little superficial which means that the conclusion is a little simp0listic and not fully justified.



Sticky Note

The answer was awarded 3 marks in band 2.



Sticky Note

The answer was awarded 3 marks for the quality of writing. 
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 (iii) Study the Resource Box below.


The development of Bristol Docks has created a commercial environment of café bars, 
restaurants, shops and other tourist and leisure facilities generating over 3 000 new jobs 
in a previously run-down part of the city. There are also sports facilities, an industrial 
museum and a maritime heritage museum.


Part of Bristol Docks before 
redevelopment Bristol Docks Waterfront


Millennium Square, 
Bristol Docks


New housing development in 
Bristol Docks


Resource Box


In recent years, the dockland area of Bristol has undergone major change.
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  To what extent do you agree that sites such as Bristol Docks have been developed 
sustainably? 


  Use the Resource Box and Egan’s Wheel to support your answer. You may also refer to 
examples you have studied. [8]


 
  The accuracy of your writing will be assessed in your answer to this question. [3]


Egan’s Wheel


GOVERNANCE
Effective and 


inclusive 
participation, 


representation 
and 


leadershipSOCIAL AND 
CULTURAL


Vibrant, harmonious and 
inclusive communities


TRANSPORT 
AND 


CONNECTIVITY
Good transport services 


and communication linking 
people to jobs, schools, 


health and other services


HOUSING AND THE 
BUILT ENVIRONMENT


A quality built and 
natural environment


ECONOMY
A flourishing and 


diverse local economy


ENVIRONMENTAL 
Providing places for 
people to live in an 
environmentally-


friendly way


SERVICES
A full range of 


appropriate, accessible, 
public, private, 
community and 


voluntary services


SUSTAINABLE 
COMMUNITIES
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(c) Evaluate different strategies that can be used to protect people in 
different places that experience powerful earthquakes. 
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1.


1 
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   6   6 
Use the descriptors below, working upwards from the 
lowest band.  
 
Band Marks Descriptor  


3 5-6 


Good evaluation of strategies 
showing clear ability to evaluate 
and present evidence to justify 
points made. Answer 
acknowledges advantages and 
disadvantages of one strategy or 
is able to give reasoned 
evaluation of two or more 
strategies against each other.  
 
Meaning is clear. Response has 
purpose, is organised and well 
structured. 


2 3-4 


Some evaluation of one or more 
strategies but may lack evidence 
and/or detail. Imbalanced 
between advantages and 
disadvantages of one strategy or 
between different strategies if 
more than one is considered. 
 
Meaning is generally clear. The 
response is structured. 


1 1-2 


Valid statements lack 
depth/breadth and with only 
limited evaluation.  
Meaning may lack clarity in 
parts. Statements are linked by a 
basic structure. 


 0 Award 0 marks if the answer is 
incorrect or wholly irrelevant. 


 


Candidates should apply their knowledge 
and understanding of strategies 
designed to protect people in earthquake 
prone environments. They should 
consider a range of strategies which 
could be confined to the resources but 
they may consider other strategies that 
go beyond the resources such as 
shelters, warning systems and quality of 
emergency response. They must 
consider potential advantages and 
disadvantages of different strategies. 
Different strategies might be more 
suitable depending on the level of 
development in relation to cost of 
protecting buildings and giving access to 
more people. Ensure that credit is given 
for the quality of evaluation rather than 
knowledge and understanding of the 
strategies themselves. 


 
End of Question 3 
 


 4 6 8 6  24 


  





		3110U10-1 WJEC GCSE Geography - Unit 1 MS S19.pdf

		GCSE MARKING SCHEME

		GCSE MARKING SCHEME

		INTRODUCTION

		INTRODUCTION












Question 3 (c) 


 


 



Sticky Note

The answer describes how some of the measures in the resource can help to protect people in an earthquake.



Sticky Note

This is a fairly simplistic point which is not likely to help the situation.



Sticky Note

A fairly simplistic description of how drills can help.



Sticky Note

Overall, this answer is fairly simplistic and the statements made lack depth and breadth. There is no evaluation other than the simple description of how some of the measures can help and there is no attempt to discuss any of the weaknesses of measures or to compare measures with each other.



Sticky Note

This answer was awarded 2 marks in band 1.












 



Sticky Note

There is some evaluation here relating to the cost of earthquake resistant design whilst acknowledging that it can be effective in protecting people.



Sticky Note

This is good development relating the cost of measures to levels of development.



Sticky Note

Good description of how one of the measures in the resource works to protect people.



Sticky Note

Recognition here of the limitations of hard engineering in poorer countries with evaluation suggesting what type of approach might be more suitable. This could have been developed in a little more detail.







 



Sticky Note

Further evaluation suggesting the difficulty of protecting people in rural areas.



Sticky Note

There is some evaluation of more than one strategy here but overall, the answer could have been provided with a little more detail. The answer acknowledges advantages and disadvantages.



Sticky Note

The answer was awarded 5 marks in band 3.
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 (c) Study the resources below.


Earthquake Resistant 
Design 


  Evaluate different strategies that can be used to protect people in different places that 
experience powerful earthquakes. [6] 


 


 


 


Rolling weights on roof to 
counteract shock waves. Automatic shutters come 


down over windows to 
prevent pedestrians below 
being showered with glass.


Reinforced lift shafts with 
tensioned cables.
Panels of marble and glass flexibly 
anchored to steel superstructure.


Open areas where people can 
assemble if evacuated. 


Identification number visible for helicopters 
assessing damage after earthquake.


Birdcage interlocking steel frame.


Reinforced latticework 
foundations deep in bedrock.


Rubber shock-absorbers between 
foundations and superstructure.
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End of Question 3
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(c) Evaluate different strategies that can be used to protect 
coastlines in the future. 
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    6   6 
Use the descriptors below, working upwards from the 
lowest band.  
 
Band Marks Descriptor 


3 5-6 


Good evaluation of strategies 
showing clear ability to evaluate 
and present evidence to justify 
points made. Answer 
acknowledges advantages and 
disadvantages of one strategy 
or is able to give reasoned 
evaluation of two or more 
strategies against each other.  
 
Meaning is clear. Response has 
purpose, is organised and well 
structured. 


2 3-4 


Some evaluation of one or more 
strategies but may lack 
evidence and/or detail. 
Imbalanced between 
advantages and disadvantages 
of one strategy or between 
different strategies if more than 
one is considered. 
 
Meaning is generally clear. The 
response is structured. 


1 1-2 


Valid statements lack 
depth/breadth and with only 
limited evaluation.  
 
Meaning may lack clarity in 
parts. Statements are linked by 
a basic structure. 


 0 Award 0 marks if the answer is 
incorrect or wholly irrelevant. 


 


Candidates should apply their 
knowledge and understanding of 
strategies designed to protect 
coastlines. They should consider a 
range of strategies which could be 
confined to the resources but they may 
consider strategies that go beyond the 
resources such as other forms of both 
hard and soft engineering. They must 
consider potential advantages and 
disadvantages of different strategies and 
reach a conclusion at the end. They may 
consider economic arguments in relation 
to cost and the sustainability of 
strategies in the face of increasing storm 
events with climate change in the future. 
Ensure that credit is given for the quality 
of evaluation rather than knowledge and 
understanding of the strategies 
themselves. 


 
 
End of Question 4 
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Question 4 (c) 


 



Sticky Note

Simple description of advantages and recognition of the high cost of hard engineering strategies.



Sticky Note

Simple evaluation of soft engineering but it lacks detail and sophistication.



Sticky Note

Overall the answer lacks detail although there is some evaluation of strategies at a simple level.



Sticky Note

The answer was awarded 3 marks in band 2.












 


 



Sticky Note

Some evaluation in relation to cost of soft engineering.



Sticky Note

Description of how a soft engineering strategy works.



Sticky Note

This is good evaluation which offers more sophistication in terms of sustainability with higher wave energy.



Sticky Note

Advantage of groynes  is clearly stated.



Sticky Note

Good evaluation showing the disadvantage of groynes.



Sticky Note

Further evaluation of sea walls is good.



Sticky Note

This answer shows the ability to evaluate quite well with evidence described to justify the points made. The advantages and disadvantages of a range of strategies are discussed.



Sticky Note

This answer was awarded 6 marks in band 3.
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 (c) Study the photographs below.
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Hard Engineering, UKSoft Engineering, UK 


  Evaluate different strategies that can be used to protect coastlines in the future. [6] 
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(a) (v) Analyse how longshore drift and other processes have affected 
the shape of the landforms along the coastline on this map. Use 
evidence from the map to help your answer.  AO


1.
1 


AO
1.


2 


AO
2 


AO
3 


SP
aG


 


To
ta


l 


   6   6 


Use the descriptors below, working upwards from 
the lowest band. 
 


Band Marks Descriptor 


3 5-6 


Good application of 
knowledge and 
understanding which relates 
to the area in the map and 
uses clear map evidence to 
support the points made. 
Analysis includes more than 
one landform or area of the 
map. 
Meaning is clear. Response 
has purpose, is organised 
and well structured. 
 


2 3-4 


Shows some ability to apply 
knowledge and 
understanding of coastal 
transport and deposition 
which broadly refers to the 
area of the map. Some 
imbalance in focus of 
different landform areas. 
Some but limited use made 
of map information to 
support points. 
Meaning is generally clear. 
The response is structured. 
 


1 1-2 


Simple statements with only 
cursory reference to the 
map area. Meaning may 
lack clarity in parts. 
Statements are linked by a 
basic structure. 
 


 0 
Award 0 marks if the 
answer is incorrect or 
wholly irrelevant. 


 


This question requires candidates to interpret 
the shape of the landforms in the map by 
applying their knowledge and understanding of 
coastal landforms and processes from earlier 
parts of the question. They should note that the 
trend of the sand spit is from west to east which 
would indicate that this is the prevailing wind 
direction and is formed due to the change in 
direction of the coastline at the mouth of the 
river.  
 
More able candidates might also refer to other 
landforms in the map area, for example, the 
estuary in this context in altering the energy 
balance between the river and the sea. 
Alternatively, candidates could consider the 
shape and width of the beach which is wider at 
its western end due to the shelter provided by 
the sand spit creating the lower energy 
conditions needed for deposition to take place at 
this end of the bay. They might also refer to 
human activity in this respect. As you move to 
the east along the beach, it narrows as 
longshore drift resumes and becomes the 
dominant process again.  
 
Credit also reference to human activity in 
providing breakwaters/walls to influence the 
nature of the coastal processes. They will also 
provide some balance between the two areas of 
the map referred to above. Focus on only the 
sand spit or the beach would limit to band 2.  
 
 
Note that the emphasis in marking should be on 
the application (AO2) and not 
description/explanation of the processes 
themselves (AO 1.1/1.2). 
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(b) (i) Give the type of location in which more retail units have closed 
than opened. 


AO
1.


1 


AO
1.


2 


AO
2 


AO
3 


SP
aG


 


To
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Credit this response only. Town centre high street (1)    1  1 
 
(b) (ii) Calculate the percentage of vacant retail units in Newport to 
one decimal place. Show your working. 


AO
1.


1 


AO
1.


2 


AO
2 


AO
3 


SP
aG


 


To
ta


l 


Credit only this answer 
for one mark. Award 
second mark for working. 
Award one mark for 
working if answer is 
incorrect if candidate 
demonstrates 
understanding of the 
concept. 


138/507 x 100 (1) 
27.2% (1) 


   2  2 


 
(b) (iii) Give two reasons why many people prefer to shop in out of 
town retail parks than in town centre high streets. 


AO
1.


1 


AO
1.


2 


AO
2 


AO
3 


SP
aG


 


To
ta


l 


Credit two statements 
with up to 2 marks for 
either awarded for 
elaboration (2 + 2 or 
3+1).  
Responses can focus on 
either the problems 
associated with town 
centres or the 
advantages of out of 
town locations. Ensure 
that there are two 
separate reasons e.g. do 
not double credit 
expensive parking in 
town centre/free parking 
in retail parks. 


Out of town retail parks have: 
More car parking (1) free (1) 
 
Indoor (1) comfortable environment (1) 
elaborated (1) 
 
Easier access (1) better road links (1) free 
public transport (1)  
 
Modern/ appealing environment (1) 
popular chain stores (1) very large 
supermarkets (1)  
 
multi-functional/example (1) 
 
Credit worthy development (max 2) 
 
Converse of each of above can relate to 
town centre.  


 4    4 
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(c) (i) What is a brownfield site? 


AO
1.


1 


AO
1.


2 


AO
2 


AO
3 


SP
aG


 


To
ta
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Credit any simple statement 
which gives accurate 
definition with development. 


Land that has been built on before (1) 
derelict/not currently in use (1) named 
example (as development) (1)  


2     2 


 
(c) (ii) Give two reasons why brownfield sites are often preferred to 
greenfield sites for new developments. 


AO
1.


1 


AO
1.


2 


AO
2 


AO
3 


SP
aG


 


To
ta
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Credit two reasons with 
additional marks awarded 
for elaboration up to 2 
marks 
(2 + 2 or 3+1). 
Responses can focus on 
either the advantages 
associated with brownfield 
sites or the disadvantages 
of greenfield locations. 
Ensure that responses 
provide a comparison 
between the two for each 
additional mark. Accept 
converse of any point as 
long as meaning is clear. 
 
Do not accept "Land is 
cheaper" unless it has been 
clearly developed/explained 
in the context of the 
answer.   


Land often derelict/eyesore (1) and 
development improves environment (1) 
leading to regeneration (1) 
 
Easier to acquire planning permission 
(1) protects greenbelt (1) 
Councils/govt. want to improve it (1)  
 
Less likely to meet opposition (1) 
because of environmental arguments 
(1) or residents/NIMBYs (1)  
 
 
Availability of grants (1) for developing 
derelict land (1)  
 
existing infrastructure in place (1) eg 
roads/named services (1) 
 
Additional development points (max 2)  


 4    4 
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(c) (iii) To what extent do you agree that sites such as Bristol Docks 
have been developed sustainably? Use the Resource Box and 
Egan's Wheel to support your answer. You may also refer to other 
examples you have studied. AO


1.
1 


AO
1.


2 


AO
2 


AO
3 


SP
aG


 


To
ta


l 


   8  3 11 


Use the descriptors below, working upwards from the lowest 
band.  
 


Band Marks Descriptor 


4 7-8 


A range of detailed and elaborated points 
are made both for and against the 
statement. Information in the resources 
and/or other evidence is interpreted and 
analysed thoroughly and perceptively. 
Conclusion is justified using a sophisticated 
chain of reasoning.  
Meaning is unambiguous. The response 
has clear purpose, is fluent and logically 
structured. 


3 5-6 


A range of elaborated points are made on 
one side of the argument in detail or both 
sides of the argument in less detail. 
Information in the resources is interpreted 
carefully and used to good effect to support 
the argument. Additional evidence may be 
considered. A reasoned and valid 
conclusion is made and is based on the 
evidence. Meaning is clear. The response 
has purpose, is organised and well 
structured. 


2 3-4 


Valid points are made on one or both sides 
of the argument but are superficial. A few 
points are elaborated but lacking in 
sophistication. There is valid but limited 
interpretation of information in the resource. 
Conclusion is made but is simplistic and 
with limited justification. Meaning is 
generally clear. The response is structured. 


1 1-2 


Valid but basic and simplistic points made 
with little or no elaboration. Basic 
conclusion is made but no justification. 
Meaning may lack clarity in parts. 
Statements are linked by a basic structure. 


 0 Award 0 marks if the answer is incorrect or 
wholly irrelevant. 


 


Candidates are required to 
analyse the resources in the 
photographs and the fact box 
and come to a judgement on the 
level of sustainability of the 
redevelopment in Bristol in 
relation to Egan’s Wheel. Good 
candidates will conclude that 
there is perhaps not enough 
information in the resources 
provided to make a full 
assessment but should be able 
to apply the resources that are 
presented to evaluate the social 
and cultural, economy, housing 
and built environment, services 
and environmental. There is 
material in all of the resources 
to be able to give an opinion on 
either side of the argument. At 
the higher levels, look for the 
ability to give a balanced 
viewpoint and eventually come 
to a reasoned judgement. The 
judgement could be stated at 
the start of the answer but 
failure to provide one should 
limit the response to band 2. For 
example, candidates could refer 
to the modern housing which 
improves the built environment 
but counter this with the view 
that it may be too expensive for 
traditional residents. They 
should apply several, but not 
necessarily all of the criteria in 
Egan’s Wheel in bands 3 and 4. 
Look also for consideration of 
the full range of resources. Give 
credit also for reference to other 
examples which support the 
argument on either side but this 
is not mandatory and detailed 
and perceptive consideration of 
Bristol should be sufficient for 
full marks. 
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After awarding a level and mark for the geographical response, apply the performance 
descriptors for writing accurately that follow. Having decided on a band, award a second 
mark (out of 3). 
 
In applying these indicators, candidates may only receive marks for responses that are in the 
context of the demands of the question; that is, where candidates have made a genuine 
attempt to answer the question. 
 
Band Marks Performance descriptions 


High 3 


• Candidates spell and punctuate with consistent accuracy 
• Candidates use rules of grammar with effective control of 


meaning overall 
• Candidates use a wide range of specialist terms as 


appropriate 


Intermediate 2 


• Candidates spell and punctuate with considerable accuracy 
• Candidates use rules of grammar with general control of 


meaning overall 
• Candidates use a good range of specialist terms as 


appropriate 


Threshold 1 


• Candidates spell and punctuate with reasonable accuracy 
• Candidates use rules of grammar with some control of 


meaning and any errors do not significantly hinder meaning 
overall  


• Candidates use a limited range of specialist terms as 
appropriate 


 0 


The candidate writes nothing 
The candidate’s response does not relate to the question. The 
candidate’s achievement in SPaG does not reach the threshold 
performance level, for example errors in spelling, punctuation and 
grammar severely hinder meaning 


 
End of Question 2 
 


 6 8 8 6 3 31 
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Options Theme 3, Question 3 
 


(a) (i) Give the name of one active volcanic island shown on the map.  


AO
1.


1 


AO
1.


2 


AO
2 


AO
3 


SP
aG


 


To
ta


l 


Credit any one of these responses for 
one mark. 


Montserrat, Guadeloupe, 
St. Vincent, Martinique, 
Grenada 


   1  1 


 
(a) (ii) Complete the box below to give the latitude and longitude of 
Puerto Rico. 


AO
1.


1 


AO
1.


2 


AO
2 


AO
3 


SP
aG


 


To
ta


l 


Credit only these answers within the 
range shown for one mark each. 


North (1) 65-67 (1)    2  2 


 
(a) (iii) Complete the following paragraph choosing your answers from 
the box below. 


AO
1.


1 


AO
1.


2 


AO
2 


AO
3 


SP
aG


 


To
ta


l 


Credit only these responses for one 
mark each. 


crust 
destructive 
subduction 
stratovolcanoes 


4     4 


 
(a) (iv) Explain why ocean trenches are formed where two plates 
collide. You may use a diagram to help your answer. 


AO
1.


1 


AO
1.


2 


AO
2 


AO
3 


SP
aG


 


To
ta


l 


  4    4 
Use the descriptors below, working upwards 
from the lowest band. 
 


Band Marks Descriptor 


2 3-4 


Good explanation that shows 
good clear understanding of 
the processes involved in 
relation to the form of the 
landform. 


1 1-2 


Simple statements with some 
merit although tendency 
towards description over 
explanation. Limited 
understanding. 


 0 


Award 0 marks if the answer is 
incorrect or wholly irrelevant. 


 


Trenches are formed where oceanic crust 
bends downwards through the process of 
subduction and slides back into the mantle at 
destructive margins.  
The more dense plate is the one that sinks 
beneath the lighter plate.  
The depth of the trench is represented by the 
leading edge of the plate that is conserved.  
 
Credit answers that are in the form of either 
prose or diagram or combination of both but do 
not double credit. Look for quality of 
understanding through explanation of cause 
and effect.  
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(b) (i) Describe the pattern of high risk earthquakes in California. 


AO
1.


1 


AO
1.


2 


AO
2 


AO
3 


SP
aG


 


To
ta


l 


Credit up to three valid 
points for one mark 
each. 
Credit named places 
only in the context of a 
distribution 


Narrow band (1) follows San Andreas fault 
(1) within 50-100km of fault line (1) roughly 
close to/parallel with coast (1) NW to SE (1) 
close to named city/cities (1) west California 
(1)  


   3  3 


 


(b) (ii) Suggest one way this map might help planners in San 
Francisco to reduce the risks associated with earthquakes. 


AO
1.


1 


AO
1.


2 


AO
2 


AO
3 


SP
aG


 


To
ta


l 


Credit one way only 
with elaboration. 


identify areas of high risk of earthquake (1) 
Land use planning (1) zoning (1) 
establishing building codes (1) identify 
areas of high risk (1) emergency planning 
(1)  valid development (1) 


  2   2 


 
 
(b) (iii) Explain why earthquakes can affect infrastructure in large 
cities.  


AO
1.


1 


AO
1.


2 


AO
2 


AO
3 


SP
aG


 


To
ta


l 


Credit one reason only 
with development. 
 
Focus must be on 
infrastructure and not 
people. Therefore, no 
marks for 
deaths/injuries, etc. 


Ground shaking (1) Render buildings or 
other structures unstable/cause collapse (1)  
Liquefaction (1) undermines foundations (1) 
buildings/roads/bridges (1) 
Electricity/gas supplies affected (1) due to 
collapsed pylons/pipes, etc (1) 
Emergency services restricted (1) by 
damage to roads/buildings/communications 
(1) 
Water shortages (1) due to fractured mains 
supply (1) 


 2    2 
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(c) Evaluate different strategies that can be used to protect people in 
different places that experience powerful earthquakes. 


AO
1.


1 


AO
1.


2 


AO
2 


AO
3 


SP
aG


 


To
ta


l 


   6   6 
Use the descriptors below, working upwards from the 
lowest band.  
 
Band Marks Descriptor  


3 5-6 


Good evaluation of strategies 
showing clear ability to evaluate 
and present evidence to justify 
points made. Answer 
acknowledges advantages and 
disadvantages of one strategy or 
is able to give reasoned 
evaluation of two or more 
strategies against each other.  
 
Meaning is clear. Response has 
purpose, is organised and well 
structured. 


2 3-4 


Some evaluation of one or more 
strategies but may lack evidence 
and/or detail. Imbalanced 
between advantages and 
disadvantages of one strategy or 
between different strategies if 
more than one is considered. 
 
Meaning is generally clear. The 
response is structured. 


1 1-2 


Valid statements lack 
depth/breadth and with only 
limited evaluation.  
Meaning may lack clarity in 
parts. Statements are linked by a 
basic structure. 


 0 Award 0 marks if the answer is 
incorrect or wholly irrelevant. 


 


Candidates should apply their knowledge 
and understanding of strategies 
designed to protect people in earthquake 
prone environments. They should 
consider a range of strategies which 
could be confined to the resources but 
they may consider other strategies that 
go beyond the resources such as 
shelters, warning systems and quality of 
emergency response. They must 
consider potential advantages and 
disadvantages of different strategies. 
Different strategies might be more 
suitable depending on the level of 
development in relation to cost of 
protecting buildings and giving access to 
more people. Ensure that credit is given 
for the quality of evaluation rather than 
knowledge and understanding of the 
strategies themselves. 


 
End of Question 3 
 


 4 6 8 6  24 
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Options Theme 4, Question 4 
 


(a) (i) Give the name of one island affected by Hurricane Maria when 
it was at category 4. 


AO
1.


1 


AO
1.


2 


AO
2 


AO
3 


SP
aG


 


To
ta


l 


Credit any one of these responses for 
one mark. 


 Puerto Rico 
Accept: Haiti, Dominican 
Republic 


   1  1 


 
(a) (ii) Complete the box below to give the latitude and longitude of 
Puerto Rico. 


AO
1.


1 


AO
1.


2 


AO
2 


AO
3 


SP
aG


 


To
ta


l 


Credit only these answers within the 
range shown for one mark each. 


North (1)  
65-67 (1) 


   2  2 


 
(a) (iii) Complete the following paragraph choosing your answers from 
the box below. 


AO
1.


1 


AO
1.


2 


AO
2 


AO
3 


SP
aG


 


To
ta


l 


Credit only these responses for one 
mark each. 


Relief 
Strength 
Densely 
Wealth 


4     4 


 
(a) (iv) Explain why rising sea levels are likely to be a problem in 
the future for people who live in Small Island States.  


AO
1.


1 


AO
1.


2 


AO
2 


AO
3 


SP
aG


 


To
ta


l 


  4    4 
Use the descriptors below, working upwards from 
the lowest band. 
 


Band Marks Descriptor 


2 3-4 


Good explanation that shows 
clear understanding of the 
issues involved. 


1 1-2 


Simple statements with some 
merit although tendency 
towards description over 
explanation. 


 0 
Award 0 marks if the answer 
is incorrect or wholly 
irrelevant. 


 


Climate change is likely to raise sea levels in 
the future which will both inundate low lying 
land on small islands and increase the severity 
of storms and potential surge events. 
Populations tend to concentrate near the coast 
as they often survive or make a living from 
fishing. The populations of many small island 
states are poor and thus lack the resilience to 
recover from the impacts of extreme weather 
events and the potential loss of homes from 
rising sea levels.  
 
Look for quality of understanding through 
explanation and do not credit simple description 
unless it serves to support the explanation. 
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(b) (i) Describe the distribution of areas where ‘Hold the Line’ is the 
planned option to manage this stretch of coastline. 


AO
1.


1 


AO
1.


2 


AO
2 


AO
3 


SP
aG


 


To
ta


l 


Credit up to three valid 
points for one mark 
each. 
 
 
 
Credit named places 
only in the context of a 
distribution (max 1) 


More in south than north of map (1)  
around larger urban areas (1) 
low lying  land (1)  
majority of coastline (1)  
around the mouths of the rivers (1)  
 
named place/river (1) 


   3  3 


 
(b) (ii) Suggest one reason why the planned option is to ‘Do Nothing’ 
in the Area A in the north of the map. 


AO
1.


1 


AO
1.


2 


AO
2 


AO
3 


SP
aG


 


To
ta


l 


Credit one reason only 
with elaboration 


Low value land (1) increased rate of 
erosion/flooding (1) cost outweighs 
benefits (1) valid development (1) low 
population density (1) 


  2   2 


 
(b) (iii) The opinions of residents who live at the coast are often 
different to those of local councils about how the coastline should be 
managed.  
 
Give one reason to explain this.  AO


1.
1 


AO
1.


2 


AO
2 


AO
3 


SP
aG


 


To
ta


l 


Credit one reason only 
with elaboration. 


Residents’ homes (1) culture and history 
(1) cost v benefit (1) development (1) 


 2    2 
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(c) Evaluate different strategies that can be used to protect 
coastlines in the future. 


AO
1.


1 


AO
1.


2 


AO
2 


AO
3 


SP
aG


 


To
ta


l 


    6   6 
Use the descriptors below, working upwards from the 
lowest band.  
 
Band Marks Descriptor 


3 5-6 


Good evaluation of strategies 
showing clear ability to evaluate 
and present evidence to justify 
points made. Answer 
acknowledges advantages and 
disadvantages of one strategy 
or is able to give reasoned 
evaluation of two or more 
strategies against each other.  
 
Meaning is clear. Response has 
purpose, is organised and well 
structured. 


2 3-4 


Some evaluation of one or more 
strategies but may lack 
evidence and/or detail. 
Imbalanced between 
advantages and disadvantages 
of one strategy or between 
different strategies if more than 
one is considered. 
 
Meaning is generally clear. The 
response is structured. 


1 1-2 


Valid statements lack 
depth/breadth and with only 
limited evaluation.  
 
Meaning may lack clarity in 
parts. Statements are linked by 
a basic structure. 


 0 Award 0 marks if the answer is 
incorrect or wholly irrelevant. 


 


Candidates should apply their 
knowledge and understanding of 
strategies designed to protect 
coastlines. They should consider a 
range of strategies which could be 
confined to the resources but they may 
consider strategies that go beyond the 
resources such as other forms of both 
hard and soft engineering. They must 
consider potential advantages and 
disadvantages of different strategies and 
reach a conclusion at the end. They may 
consider economic arguments in relation 
to cost and the sustainability of 
strategies in the face of increasing storm 
events with climate change in the future. 
Ensure that credit is given for the quality 
of evaluation rather than knowledge and 
understanding of the strategies 
themselves. 


 
 
End of Question 4 
 


 4 6 8 6  24 
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Question 1 (a)(v) 



Sticky Note

This question requires candidates to interpret the shape of landforms in the map by applying their knowledge and understanding of coastal landforms and processes. These have been signposted in earlier parts of of the question to draw attention to the sand spit, its trend and the process of longshore drift.



Sticky Note

Some map evidence using grid references to identify where the beach is wider.



Sticky Note

Some reference to the narrower beach in the east of the map although the link with erosion is somewhat tenuous.



Sticky Note

Limited reference to the sand spit and its link to process but the candidate could have made more of this by suggesting the direction of the prevailing wind and how it had been created by longshore drift. The role of the estuary is also ignored.



Sticky Note

Overall, this candidate has attempted to analyse the landforms in the map and broadly refers to the map area giving some grid references to confirm this. However, it lacks depth and detail and there is little or no discussion of processes responsible. 



Sticky Note

This answer was awarded 3 marks in band 2 of the mark scheme.












Sticky Note

The candidate correctly identifies the direction of the prevailing wind and therefore, longshore drift in the formation of the spit. Map evidence for its location is clearly given in the form a grid reference.



Sticky Note

This is really good and shows the ability to apply knowledge and understanding to the landforms in the map. The candidate recognises that the wider beach is caused by the protection from longshore drift by the spit.



Sticky Note

The differences in width of the beach is analysed in detail showing very good application of knowledge and understanding.



Sticky Note

The candidate has missed an opportunity here to just say a little more about the processes forming the spit, such as the outflow of water through the estuary.



Sticky Note

Good analysis here to explain why the beach becomes narrower towards the east because longshore becomes the dominant process once the effect of shelter from the spit has been removed.



Sticky Note

This is clearly a band 3 answer which demonstrates good application of knowledge and understanding relating to the beach in the map. However, it just lacks a little balance as the question refers to more than one landform and although the analysis of the beach is very good, the spit is lacking a little in detail. There could also have been a little more map evidence quoted, in the form of grid references, place names or directions.



Sticky Note

The answer was awarded 5 marks in band 3.












 


 



Sticky Note

The candidate uses clear map evidence in referring to the sand spit and although not explicit, the direction of movement is implied through the grid reference and place name. 



Sticky Note

This is good analysis of process through describing the effect of the estuary in reducing energy so that deposition takes place at the end of the spit to interrupt the long shore drift.



Sticky Note

Detailed map evidence to show that the candidate is now referring to a different landform, the beach. Although the impact of process is not fully developed here, there is recognition of the change in shape, clearly evidenced by the use of direction.



Sticky Note

This is a good example of a candidate being synoptic in an AO2 question as dunes are not part of the specification but have obviously been studied elsewhere and this is a perfectly valid approach. The analysis of dunes is accurate and clearly related to the map area with grid references. 



Sticky Note

The candidate has returned to the beach and offered a plausible analysis of the processes responsible for the narrowing of the beach in an area identified by place name. It shows excellent application of knowledge and understanding.



Sticky Note

This is a very good answer showing good application of knowledge and understanding which clearly relates to the landforms in the map area and which are well evidenced by grid references and place names. There is fairly detailed analysis of more than one landform or area of the map.



Sticky Note

The answer was awarded 6 marks in band 3.
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(v) Analyse how longshore drift and other processes have affected the shape of the
landforms along the coastline on this map. Use evidence from the map to help your
answer. [6]
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Question 1 (c)(iii) 
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(c) (iii) Explain why the shape of a storm hydrograph can be affected 
by different land uses.  


AO
1.


1 


AO
1.


2 


AO
2 


AO
3 


SP
aG


 


To
ta


l 


  6    6 


Use the descriptors below, working upwards from the 
lowest band.  
 
Band Marks Descriptor 


3 5-6 


Good understanding and 
detailed explanation of 
relationship describing shape of 
hydrograph in context of 
changes to identified processes 
and stores in the drainage basin 
which are altered by changes to 
land use. Explanation is 
detailed. 
 
Meaning is clear. Response has 
purpose, is organised and well 
structured. 


2 3-4 


Some understanding of why 
shape responds to changing 
land use using more than one 
land use types to illustrate. 
Refers changing processes and 
stores in drainage basin. 
Contains some explanation but 
lacks detail. 
 
Meaning is generally clear. The 
response is structured. 


1 1-2 


Simple statements showing 
limited understanding of 
relationship between land use 
and shape of hydrograph. 
 
Meaning may lack clarity in 
parts. Statements are linked by 
a basic structure. 


 0 Award 0 marks if the answer is 
incorrect or wholly irrelevant. 


 


Candidates need to demonstrate 
understanding of why the hydrograph 
components of rising limb and recession 
limb shapes, lag time and ‘flashiness’ of 
the hydrograph are affected by human 
activity in the form of changing land use. 
They do not need to describe a wide 
range of land uses to do this and can 
achieve band 3 by simply contrasting 
two. The focus is on ‘why’ the 
hydrograph changes and this can be 
explained by reference to the changing 
balance of stores and flows in the 
drainage which affect the speed at which 
water enters the river channel. For 
example they may refer to urban land-
use generating more overland flow 
leading to a steeper or more flashy 
hydrograph because of impermeable 
surfaces as opposed to the increase in 
infiltration leading to slower throughflow 
to the channel in agricultural areas. 
Equally they might contrast arable to 
pastoral farming or refer to afforested 
land. Credit the quality of explanation 
which shows good understanding of the 
relationship between the shape of the 
hydrograph and the nature of the land 
use. 
 
A focus on factors affecting flooding 
without reference to the hydrograph 
shape should be limited to Band 1. 


 
End of Question 1 
 


 5 6 9 8  28 
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Question 1 (c)(iii) 


 



Sticky Note

Candidate understands effect of land use on the passage of water through the drainage basin. Identifies here the impact of hard surfaces on infiltration.



Sticky Note

This is the only refernce to the hydrograph but the statement made is not accurate as the bankfull level of a river doesn't change.



Sticky Note

This is a good point but does not relate to the hydrograph.



Sticky Note

The candidate correctly explains the impact of a second type of land use on flooding.



Sticky Note

This point is irrelevant because it does not relate to land use.



Sticky Note

This candidate clearly understands the factors which affect the flow of water through the drainage basin and the likely impact on flooding. However, the answer does not answer the question by relating this to the shape of the hydrograph and as such, cannot move out of the bottom band of the mark scheme. If the candidate had made any reference at all to the time lag between peak rainfall and run-off or to the steepness of the lines on the hydrograph, this answer would have scored more marks.



Sticky Note

The answer was awarded 2 marks in band 1.












 



Sticky Note

Candidate has identified a land use and explained the impact of impermeable surfaces on the flow of water.



Sticky Note

There is a simple reference here to the total flow represented in the hydrograph and how this will be affected by urban surfaces.



Sticky Note

A contrasting land use is described and there is some explanation of the impact on the flow of water but it is rather brief and lacking detail.



Sticky Note

Reference is correctly made to the steepness of the line on the hydrograph of rural land use.



Sticky Note

This is a genuine attempt to answer the question and the candidate correctly refers to the effect on the shape of the hydrograph with some understanding. Although more than one land use is discussed, the impact on shape is only mentioned in the context of one of these.  The explanation of the flows and stores of water and their impact on the hydrograph lacks detail.



Sticky Note

The answer was awarded 3 marks in band 2.












 



Sticky Note

Clear reference is made to the impact of the urban land use on the shape of the various components of the hydrograph.



Sticky Note

Explanation is given for the impact on shape of the land use.



Sticky Note

Contrasting land use described with explanation of the impact on shape and reasons for it in terms of the speed of flow of water.



Sticky Note

Explanation is in some detail.



Sticky Note

Explanation is offered here of the likelihood of the river flooding in a rural area.



Sticky Note

This candidate has shown good understanding and detailed explanation of the relationship between land use, the flows and stores of water and their associated impact on the shape of the hydrograph. The answer uses the correct terminology for the components of the hydrograph. The meaning is clear and the answer is well structured.



Sticky Note

This answer was awarded 6 marks in band 3.
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 (iii) Explain why the shape of a storm hydrograph can be affected by different land 
uses. [6]


 


 


 


 


 


 


 


 


 


 


 


 


 


 


End of Question 1












Question 2 (c) (ii) 


 


 


 


 












Question 2 (c) (ii) 
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(c) (ii) Give two reasons why brownfield sites are often preferred to
greenfield sites for new developments.


AO
1.


1 


AO
1.


2 


AO
2 


AO
3 


SP
aG


 


To
ta


l 


Credit two reasons with 
additional marks awarded 
for elaboration up to 2 
marks 
(2 + 2 or 3+1). 
Responses can focus on 
either the advantages 
associated with brownfield 
sites or the disadvantages 
of greenfield locations. 
Ensure that responses 
provide a comparison 
between the two for each 
additional mark. Accept 
converse of any point as 
long as meaning is clear. 


Do not accept "Land is 
cheaper" unless it has been 
clearly developed/explained 
in the context of the 
answer.   


Land often derelict/eyesore (1) and 
development improves environment (1) 
leading to regeneration (1) 


Easier to acquire planning permission 
(1) protects greenbelt (1)
Councils/govt. want to improve it (1)


Less likely to meet opposition (1) 
because of environmental arguments 
(1) or residents/NIMBYs (1)


Availability of grants (1) for developing 
derelict land (1)  


existing infrastructure in place (1) eg 
roads/named services (1) 


Additional development points (max 2) 


4 4 
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Question 2 (c) (ii) 



Sticky Note

Reference to the environmental impact of developing greenfield sites scores one mark.



Sticky Note

Unless qualified as to why it might be cheaper, this answer cannot be awarded a mark. Brownfield sites are not necessarily cheaper to develop.



Sticky Note

This demonstrates a lack of understanding.



Sticky Note

This answer scored just one mark from the possible 4.












Question 2 (c) (ii) 


 


 


 


 



Sticky Note

Reference to the environmental impact of developing greenfield sites scores one mark.



Sticky Note

Unless qualified as to why it might be cheaper, this answer cannot be awarded a mark. Brownfield sites are not necessarily cheaper to develop.



Sticky Note

It is true that there could be cost savings in the developing a brownfield site due to certain aspects of infrastructure like electricity already available. This reason therefore scored two marks as the refernce to 'cheaper' is a development of the availability of power.



Sticky Note

This is a valid point for one mark.



Sticky Note

Reference to habitats develops the environment point to earn a second mark.



Sticky Note

This answer scored the full 4 marks for the question.
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(ii) Give two reasons why brownfield sites are often preferred to greenfield sites for
new developments. [4]


Reason 1


Reason 2 












Question 2 (c)(iii) + ACC 
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(c) (iii) To what extent do you agree that sites such as Bristol Docks 
have been developed sustainably? Use the Resource Box and 
Egan's Wheel to support your answer. You may also refer to other 
examples you have studied. AO


1.
1 


AO
1.


2 


AO
2 


AO
3 


SP
aG


 


To
ta


l 


   8  3 11 


Use the descriptors below, working upwards from the lowest 
band.  
 


Band Marks Descriptor 


4 7-8 


A range of detailed and elaborated points 
are made both for and against the 
statement. Information in the resources 
and/or other evidence is interpreted and 
analysed thoroughly and perceptively. 
Conclusion is justified using a sophisticated 
chain of reasoning.  
Meaning is unambiguous. The response 
has clear purpose, is fluent and logically 
structured. 


3 5-6 


A range of elaborated points are made on 
one side of the argument in detail or both 
sides of the argument in less detail. 
Information in the resources is interpreted 
carefully and used to good effect to support 
the argument. Additional evidence may be 
considered. A reasoned and valid 
conclusion is made and is based on the 
evidence. Meaning is clear. The response 
has purpose, is organised and well 
structured. 


2 3-4 


Valid points are made on one or both sides 
of the argument but are superficial. A few 
points are elaborated but lacking in 
sophistication. There is valid but limited 
interpretation of information in the resource. 
Conclusion is made but is simplistic and 
with limited justification. Meaning is 
generally clear. The response is structured. 


1 1-2 


Valid but basic and simplistic points made 
with little or no elaboration. Basic 
conclusion is made but no justification. 
Meaning may lack clarity in parts. 
Statements are linked by a basic structure. 


 0 Award 0 marks if the answer is incorrect or 
wholly irrelevant. 


 


Candidates are required to 
analyse the resources in the 
photographs and the fact box 
and come to a judgement on the 
level of sustainability of the 
redevelopment in Bristol in 
relation to Egan’s Wheel. Good 
candidates will conclude that 
there is perhaps not enough 
information in the resources 
provided to make a full 
assessment but should be able 
to apply the resources that are 
presented to evaluate the social 
and cultural, economy, housing 
and built environment, services 
and environmental. There is 
material in all of the resources 
to be able to give an opinion on 
either side of the argument. At 
the higher levels, look for the 
ability to give a balanced 
viewpoint and eventually come 
to a reasoned judgement. The 
judgement could be stated at 
the start of the answer but 
failure to provide one should 
limit the response to band 2. For 
example, candidates could refer 
to the modern housing which 
improves the built environment 
but counter this with the view 
that it may be too expensive for 
traditional residents. They 
should apply several, but not 
necessarily all of the criteria in 
Egan’s Wheel in bands 3 and 4. 
Look also for consideration of 
the full range of resources. Give 
credit also for reference to other 
examples which support the 
argument on either side but this 
is not mandatory and detailed 
and perceptive consideration of 
Bristol should be sufficient for 
full marks. 
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After awarding a level and mark for the geographical response, apply the performance 
descriptors for writing accurately that follow. Having decided on a band, award a second 
mark (out of 3). 
 
In applying these indicators, candidates may only receive marks for responses that are in the 
context of the demands of the question; that is, where candidates have made a genuine 
attempt to answer the question. 
 
Band Marks Performance descriptions 


High 3 


• Candidates spell and punctuate with consistent accuracy 
• Candidates use rules of grammar with effective control of 


meaning overall 
• Candidates use a wide range of specialist terms as 


appropriate 


Intermediate 2 


• Candidates spell and punctuate with considerable accuracy 
• Candidates use rules of grammar with general control of 


meaning overall 
• Candidates use a good range of specialist terms as 


appropriate 


Threshold 1 


• Candidates spell and punctuate with reasonable accuracy 
• Candidates use rules of grammar with some control of 


meaning and any errors do not significantly hinder meaning 
overall  


• Candidates use a limited range of specialist terms as 
appropriate 


 0 


The candidate writes nothing 
The candidate’s response does not relate to the question. The 
candidate’s achievement in SPaG does not reach the threshold 
performance level, for example errors in spelling, punctuation and 
grammar severely hinder meaning 


 
End of Question 2 
 


 6 8 8 6 3 31 
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Question 2 (c)(iii) + ACC 


 



Sticky Note

Candidate has provided a conclusion within the introduction which sets the answer in the context of Egan's Wheel. This is perfectly acceptable.



Sticky Note

Justification of agreement with the statement based on evidence.







 


 



Sticky Note

Further justification based on Egan's Wheel.



Sticky Note

Further justification is given and picks up on the previous question on brownfield sites to add weight to the sustainability argument. This is good practice and shows that the candidate has thought about the wider issues.



Sticky Note

Up to this point, the answer is quite well constructed and well written with a range of evidence from the resources elaborated to back up the conclusion that the docks have been developed sustainably. The points raised are in some detail although some of them could have been elaborated further. However, there is no consideration of the alternative viewpoint and as such, this candidate is not able to progress into the highest band. 



Sticky Note

This answer was awarded 5 marks in band 3.



Sticky Note

The answer was awarded the full 3 marks for the quality of the writing.











